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BIOLOGY SSC-Il
SECTION — A (Marks 12)

Time ailowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C /D. Each part carries one mark.
(i) Which type of blood vessels surround the alveoli?
A Capilllaries B. Arterioles C. Arteries D. Veins

(i) The tube between kidney and urinary bladder is the:

A Renal tubule  B. Urethra C. Ureter D. Nephron
(iii}) Insutin and glucagon are produced in the:

A Hypothalamus B. Pancreas C. Liver D. Anterior Pituitary
(iv) What are the main components of a bone?

A Marrow, spongy bone, wax B. Marrow, compact bone, wax

C. Compact bone and marrow - D. Compact bone, spongy bone, marrow
(v} Which of the following is ball-and-socket joint?

A Joint in finger bones B. Joint of neck and skull bones

C. Joint at peivic girdle D Joint at elbow
{vi) Doubie fertilization in plants means:

A Fusion of one sperm with egg cell and other sperm with fusion nucieus

B. Fusion of two sperms with two egg cells

C. Fusion of two sperms with same’ single egg cel

D. Fusion of tube nucleus with fusion nucieus and sperm with egg cell

{vii} How many genetically different kinds of gametes an individual with genotype AAbb can produce?
A 8 . B 4 C. 2 D. 1 '

(vii) fdentify the correctly matched pair:

A Rainfall - biotic factors in ecosystem B Renewable natural resource — air
C. Giobal warming —formation of fossil fuels  D. Corn —=Secondary consumer
(ix) In a food chain, tree — caterpillar — robin — hawk —» coyote, which is the secondary consumer?
A Coyote B. Hawk C Robin . D. Caterpillar
() Find the correct match for the fermentation product and the organism involved:
A ' Ethanol — Saccharomyces B. Formic acid — Saccharomyces
C. Ethanol — Aspergilius D. Glycerol — Aspergilus
{xi) Which one is NOT an objective of genetic engineering?
A . Correction of genetic defects in higher organisms
‘B Isolation of a particuiar gene or part of a gene
C. Production of RNA and protein molecules
D. Production of cheese and yogurt by lactic acid bacteria

(xi) Which of the following drugs is obtained from plants? .
A Aspirin B. Opium C. Cephalosporin D. insulin

For Examiner’s use only:

Total Marks: 12
Marks Obtained: |
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BIOLOGY SSC-lI

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NQOTE: Answer any efeven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 =33)

() How does the tobacco smoke damage the human health?

(i) Briefly describe the process of selective re-absorption in the kidneys.

iif) What are the major organs involved in homeostasis in human body? State the role of each of these
organs.

(iv) Justify the time difference between seeing the flash of lightning and hearing the roar of thunderstorm.

{v) Compare the BGC (Blood Glucese Concentration) of healthy person with a patient from Diabetes mellitus
during fasting and after meal in tabular form.

{vi) How would you differentiate among Ostec-arthritis, Rheumatoid arthritis and Gout?

{vii) What are ligaments and tendons? What functions do they perform?

(it} Why do we consider overpopulation, a global problem?
(ix) “Parthenogenesis is a type of agexual reproduction”. Give comments on this statement by providing

suitable examples.

{x} Write the contribution of following scientists:
a. C. de Buffon b. Wilmut C. Scrimshow
{xi) Variations are also caused by different combinations of chromosomes in gametes. How?

{xi1) Briefly explain the symbiotic relationship between the Honeyguide bird and Badgers.

(xiiiy  Write down the advantages of using fermenters

(xiv) Differentiate between pharmaceutical drug and addictive drug.

(xv) What is Materia Medica? How can you distinguish between Prescriptive and Non-prescriptive drugs by

giving suitable examples?

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. Also draw labelled diagrams where

necessary. (2 x 10 = 20)
Q.3 a Describe the symptoms, causes and treatments of Emphysema and Asthma. (02+02+02)
b. Describe the osmotic adjustments in Halophytes. (02)
c. Describe the process of DNA replication. (02)
Q.4 a. Describe the components of a coordinated action. (04)
b. Describe the Female reproductive system of Rabbit. (04)
c. Write down the classification of drugs on the basis of their chemical properties and modes of action  (02)
Q5 a Write down the symptoms, preventive measures of dengue fever along with its causal organism
and life cycle, (01+01+01+01)
b. Exptain the batch and Continuous fermentation. {02+02)
c. Describe the role of skeletal system. (02)
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BIOLOGY SSC-II
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i The primary chemical stimulus for breathing is the concentration of.
A. C'(,inblood B (), in blood C. C'(Jyin muscles D. (), in muscles
(i} Body balance of water, saits, temperature and glucose is termed as:
A Excretion B. Tubutar secretion
C. Re-absorption D. Homeostasis
(iii) If you look at an intact human brain, what you see the most is a large. highly convoluted outer surface.
which is called:
A Cerebellum B. Cerebrum C. Pons 0. Medulla oblongata
(iv) How many bones make Human skull?
A 20 B. 24 C. 22 D. 26
(V) Find the INCORRECT statement:
A. Bone is where most blood cells are made
B. Bone is a dry and non-living supportive structure
C. Bones serves as a store house for various minerals
D. Bones protect and support the body and its organs
(vi) Pollination is the transfer of pollens from:
A Sepal to petal  B. Petal to sepal  C. Stigma to anther D. Anther to stigma
{vii) Mendel's primary contribution to our understanding of inheritance was:
A The idea that genes are found on chromosomes
B. Genes consist of long seguence of DNA
C. Explanation of patterns of inheritance
D. Determining the information contained in DNA are for protein synthesis
(viin) Organisms in the ecosystem that are responsible for the recycling of plant and animal wastes are.
A Decomposers B, Consumers C. Producers D. Competitors
(ix) Which form of Nitrogen is taken by the producers of the ecosystem?
A Nitrogen gas B. Ammonia C. Nitrites D. Nitrates
{x) Which of these is an anti-viral protein:
A Urokinase B. Thymaosin C. Interferon D Insutin
(xi) The first step in genetic engineering is:
A Growth of genetically modified organism
B. Isolation of gene of interest
C. Transfer of Recombinant DNA into host organism
D. Insertion of gene into a vector
(xii) Aspirin is categorized as:
A A synthetic drug B. A drug from animals
C. A drug from plants D. A drug from minerals
For Examiner’s use only: —
Total Marks: o 12 |
Marks Obtained: I 71
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B (Marks 33)

Q.2  Answer any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x 3 = 33)

{i) Write down the comparison between inspired and expired air.

(ii) Define Goosebumps. How can you differentiate between Guttation and Transpiration?

(i) "Along with excretion, kidneys play a role in osmoreguiation "Comment briefly on this statement.

{iv) Relate how the knowledge of nervous system has helped humans to treat diseases like epilepsy and
paralysis?

(v) Briefly explain how colour blindness could be a hurdle for air craft pilots?

{vi) Describe the Human Appendicular Skeleton.

{vil) “During the course of evolution, lower jaw bones modifications proved beneficial for mammals™. Briefly
explain it.

(viil} Write down the disadvantages of vegetative propagation. Why do gardeners use the methods of cutting

and grafting?

(ix) How can you compare the adaptation between insect pollinated flowers and wind patlinated flowers?
(x) What do you mean by co-dominance? Give an example

{x1) Entist the main sources of variations in sexually reproducing populations

{xi) “Maldives might become uninhabitable due to global warming.” Comment on this statement

{xiin) Describe the ways in which our society can benefit from the knowledge of genetic engineering.

{xiv)  Write a short note on resistance against antibiotics.

(xVv) Differentiate between narcatics and hallucinogens.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. Also draw labelfled diagrams where

necessary (2 x 10 = 20)
Q.3 a Describe the symploms, causes and treatments of bronchitis and pneumonia. (02+02+02)
b. Describe the normal chemical composition of urine {02)
c. State Mendel's law of Segregation and Independent assortment. (02)
Q.4 a Describe the negative and positive feedback mechanisms by providing suitable examples. {03)
b. Describe the male reproductive system of Rabbit. {04)
C. Explain drug addiction and associated problems (03)
Q5 a. What are the different projects for the conservation of resources? (05)
b. Write down the scope and impartance of biotechnology {03)
c. Describe the types of moveable joints. (02)
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